October 20, 2014

EF The volume of a 1‘e§ta11gular prism is Al Intherelation C=60 + 15n, C represents
: r12 . i .
represented by 12x°. The height is the total cost of holding an event at a hall.
represented by 3x. and n represents the number of guests.
Which of the following represents the area The maximum number of guests allowed in
-~ A0 . =
of the base? the hall is 100.
Hint What are the minimum and maximuum
inc o - . .
V = (area of base)(height) possible values for C?
a $0.%1500
a4 b $0.$1560
b 4
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Learning Goals

Today's lesson is all about solving for "x", given "y".
1. If giveny, solve for x using a table.
2. If giveny, solve for x using a graph.

3. If giveny, solve for x using algebra.
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4.1 - Interpreting the Solution of a Linear Equation

You can use a table or a graph to estimate the solution
to an equation.

For example, solv@ y= MX"' b

y=—;x+2

The exact solution to an equation can be determined using a balancing

strategy and algebra. W'\ b“ ‘sblqk usﬁ PR

For example,

0 GRNDEB

Example One

Mariane wants U-Host to host her website.

U-Host’s Charges per Month
$19.00 monthly charge
$1.15/megabyte (MB) of storage used

Using a table, graph and algebra, determine how many
megabytes of storage Mariane can purchase for $60 per
month.

C= cost
m = N\esa\b\f les ueed
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Using a Table

D 1.15(D)+(9 = 9
o .I5(0)+(q = 30.5P
) [1500)+]11= 43-0
30 RS
ity . )+11= b

(= [1BM+ |9
Solve for M when C=6D
60 - 1.IBm+19

?S‘M in Hhe %QQ'FIOI\

|- Follow GRMDE B,

60~ LisMeT

41~ hem

l"s : malel
.‘/¢er' a '}—

35.653= M

This method 1s Hhe, most correct.
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Example Two
With the person beside you, create a table, graph and use

algebra to solve: -3x +2 =(14, ) =— +hinK of as y

quebralmt/té,
~ ?»u/fxu—}

. wWhen y=
T2X= ] x-.--uk\{ s
=3 -2
X=-Y4
Using a Table lﬂ-; —3X+ 2/
X Y
O f{j“*“"—5<0>+<; = Q_
-5 S
- 1D - 3(-(0)ra= Ba—
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Using a Graph
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Complete: p. 202 - 204 #5 - 8, 16
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[a)
Ax-8="9

Renirife as. . -
&x R = \(

X
0 D&US-S-- :
LAy gy X=-08

| |aeD-g=-10 Wheny=-9

2 —3x-11=

ReWrrI& as .-
=3xX-1| =
X |y 1

TR
A [73@)-1 = "l(”l
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